’ sl ol & ‘
BE g9 Hol BolHAe YA L. (374 200%)

(-1 420y -2 +3(z-3)*=1
+ B9 A9 A (a,b,0)o A BF ™ Hote FE ol 94 (0,0,0)0& £33t
% E2 3 3Y Yol S Hojeh

flte,ty) = f(z,y) Vto,yeR

L[ 0% 0 2%
Fly) = 5 |7 573(0:0) + 20y 55-(0,0) + 57 5 5.0,0)
AL Holeh wE 9 SAL BHehE 0 obd B [ o § Folek

A 3 (25%). Fol Aol 2® +y° +2° <19 W xy +yz + 229 HAAFH} HARFE T

f(z,y) =sinz +y*> -2y + 1
of st tha &2 Hotet
(a) o] g49] ¢ 71“24 L nx 33}
A% A ste},
(b) AANA o] B4 4bxt Bl L] thaHAlS Patoizt,
A5 (257). B4 F:R2 - R2 7F A Aol a1, 11 o] A@Alo] detF (0,0) = 2 &
S¥ota Fok & Gla,y) = (2%,2% —y?) Shohed ok B4 det(F o G) (1,1)¢]

QAGe] FHEAA F2EAA A

ki
N
M
N
N
o

y 11

F(z,y,2) = (21‘6‘70 0% 4 2 cos y, 3y2e” Ry siny, x cosy)

£ WiNFA X (t) = (cost,sint, t), 0<t<2rE wet A28 gk [ F-dsE F73tet

FA 7 (A 1537). AEZ F(r,y) = (5 5) 0l thsko] b &5l "ethet

2+y2’x2+y

(a) 3 {(2.y) : = > O} FO @ARH ZAE A4S 7347, EAGA
o™ 1 o]fE 2%

() B {(@y) : (@.0) # (0.0}014 Fol FARS7E A5 Al 42 7317, =
ABA o 1 ol f8 ek

() 4 X(t) = (cost,e'sint), 0 <t < 7ol thato] [, F-dsE T3te}.



